Divide by 10° (A)

Find each quotient.

954 + 10% = 0.2673 =~ 10% =
7.428 ~10% = 3.34 = 102 =
1.4 +-10% = 8.14 = 102 =
6.935 +~ 10% = 45 =102 =
9.56 ~ 10% = 46377 +10% =
6.9268 ~ 10% = 6.268 ~ 102 =
1.5929 = 10% = 943 - 10% =
7.9 ~10% = 749 = 102 =
4318 = 10% = 1.1442 = 102 =
6.6 ~ 102 = 3.7532 ~ 10% =
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Divide by 10% (A) Answers

9.54 + 10* = 0.0954

7.428 + 10* = 0.07428

1.4 +10°=0.014

6.935 =+ 10% = 0.06935

9.56 + 10% = 0.0956

6.9268 + 10 = 0.069268

1.5929 + 10* = 0.015929

7.9 + 10°=0.079

4318 + 10> =0.04318

6.6 - 10°> = 0.066

Find each quotient.

0.2673 + 10* = 0.002673

3.34 + 10% = 0.0334

8.14 + 10> = 0.0814

4.5 = 10% = 0.045

4.6377 + 10%* = 0.046377

6.268 + 10° = 0.06268

9.43 + 10* = 0.0943

7.49 + 10° = 0.0749

1.1442 + 10% = 0.011442

3.7532 + 10%* = 0.037532
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Divide by 10” (B)

Find each quotient.

9.7 +10% = 6.8015 = 10% =
9.64 + 10% = 52 ~10%=
7.4695 + 10% = 24 +~10%=
2.467 ~10% = 3.33 = 102 =
5.2 +~10% = 5.075 ~ 10% =
3.432 - 10% = 041 = 102 =
9.9 - 10% = 94 =102 =
9.59 + 10% = 45+~ 10% =
2.382 - 10% = 8+~ 102% =
3+10%= 8.26 ~ 102 =
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Divide by 10% (B) Answers

9.7 + 10% = 0.097

9.64 + 10% = 0.0964

7.4695 + 10% = 0.074695

2.467 =+ 10%* = 0.02467

5.2 +10%=0.052

3.432 + 10* = 0.03432

9.9 - 10%=0.099

9.59 + 10% = 0.0959

2.382 + 10% = 0.02382

3 +10%>=0.03

Find each quotient.

6.8015 + 10* = 0.068015

5.2 +10%=0.052

2.4 +10*=0.024

3.33 + 10*=0.0333

5.075 =+ 10% = 0.05075

0.41 + 10% = 0.0041

9.4 + 10 = 0.094

4.5 +10% = 0.045

8 = 10%=0.08

8.26 ~ 10°> = 0.0826
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Divide by 10* (C)

Find each quotient.

9.7119 + 10% = 6.3 + 102 =
7.902 = 10% = 4 +10% =
436+ 10% = 713 +10% =
8.8+ 102 = 0.4876 +~ 102 =
41 +10%= 5.1+ 10% =
9.876 =+ 10% = 2.34 +10% =
3.66 ~ 102 = 3.3142 + 10% =
4.5 +10% = 4.0607 +~ 10?% =
0.1363 + 10% = 9.368 + 10% =
59+ 10%= 1.0758 + 102 =
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Divide by 102 (C) Answers

9.7119 + 10* = 0.097119

7.902 = 10% = 0.07902

4.36 + 10% = 0.0436

8.8 +~ 10% = 0.088

4.1 +10% = 0.041

9.876 + 10* = 0.09876

3.66 + 10> = 0.0366

4.5 + 10% = 0.045

0.1363 + 10> =0.001363

5.9 + 10% = 0.059

Find each quotient.

6.3 +~10%=0.063

4 +10%*=0.04

7.13 +10%>=0.0713

0.4876 + 10% = 0.004876

5.1 +10%=0.051

2.34 +10%=0.0234

3.3142 + 10* = 0.033142

4.0607 + 10 = 0.040607

9.368 + 10% = 0.09368

1.0758 = 10> =0.010758
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Divide by 10° (D)

Find each quotient.

243 ~10% = 6.8204 ~ 10% =
2.07 -~ 10% = 7.9272 +10% =
6.06 - 10% = 3.61 ~10%=
0.62 =~ 10% = 8.11 = 102 =
0.01 = 10% = 8.1492 +~ 10% =
3.5248 ~ 10% = 23 =102 =

6.7 - 10% = 93+ 102 =
54+ 10% = 5.07 =~ 10% =
2.59 -~ 10% = 9382 = 102 =
3+10%= 7.614 + 10% =

Math-Drills.Com




Divide by 10% (D) Answers

Find each quotient.

2.43 +10%*=0.0243 6.8204 + 10* = 0.068204
2.07 +10%=0.0207 7.9272 + 10%>=0.079272
6.06 =~ 10% = 0.0606 3.61 +10%=0.0361

0.62 + 10% = 0.0062 8.11 + 10%=0.0811

0.01 + 10%=0.0001 8.1492 + 10% = 0.081492
3.5248 + 10% = 0.035248 2.3 +10%°=0.023

6.7 + 10* = 0.067 9.3 + 10*=0.093

5.4 +10°=0.054 5.07 + 10% = 0.0507

2.59 + 10%=0.0259 9.382 + 10% = 0.09382
3+10%2=0.03 7.614 =+ 10* = 0.07614
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Divide by 10* (E)

Find each quotient.

5.7 - 10% = 4.1 =10% =

6.2 ~10% = 7.6242 = 10% =
2.9526 - 10% = 72 =10%=
7.36 - 10% = 1.99 =~ 102 =
5.575 ~ 10% = 4.3205 =~ 10% =
6.7 ~ 10% = 7.249 = 10% =
9.434 + 10% = 9533 +~ 102 =
0.6 -10%= 1.4 = 102 =

4.4 +10% = 6.464 ~ 10% =
8.12 ~10% = 7.8 ~10% =

Math-Drills.Com




Divide by 10% (E) Answers

5.7 -~ 10?2 =0.057

6.2 +10%=0.062

2.9526 + 10% = 0.029526

7.36 + 10 =0.0736

5.575 <+ 10%* = 0.05575

6.7 +~ 10%> = 0.067

9.434 + 10* = 0.09434

0.6 +~ 10* = 0.006

4.4 +10% = 0.044

8.12 + 10°>=0.0812

Find each quotient.

4.1 +10%=0.041

7.6242 + 10%>=0.076242

7.2 +10*=0.072

1.99 + 10*=0.0199

4.3205 =+ 10% = 0.043205

7.249 + 10* = 0.07249

9.533 + 10* = 0.09533

1.4 +10°=0.014

6.464 + 10 = 0.06464

7.8 +10°=0.078
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Divide by 10% (F)

2.9 +10%=

9.36 + 10% =

3.5696 + 10% =

0.15 =+ 10% =

4,966 + 10% =

6.4+ 10%=

6.9 - 10% =

8.9 + 10° =

8.1+ 10%=

5.5+ 10% =

Find each quotient.

6.799 = 10* =

9.84 + 10% =

8.6 + 10% =

3.5943 + 10% =

2.8+10%=

8.92 + 10% =

4.7914 + 10% =

6.0989 +~ 10* =

5.272 = 10%* =

8.729 ~ 10% =
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Divide by 10* (F) Answers

2.9 +10%=0.029

9.36 +~ 10% = 0.0936

3.5696 + 10 = 0.035696

0.15 + 10%=0.0015

4.966 + 10 = 0.04966

6.4 + 10° = 0.064

6.9 + 10> = 0.069

8.9 +~ 10° = 0.089

8.1 +10%=0.081

5.5+ 10 = 0.055

Find each quotient.

6.799 + 10* = 0.06799

9.84 + 10% = 0.0984

8.6 + 10> =0.086

3.5943 + 10% = 0.035943

2.8 +10%*=0.028

8.92 + 10> =0.0892

47914 + 10* = 0.047914

6.0989 + 10% = 0.060989

5.272 + 10%* = 0.05272

8.729 + 10* = 0.08729
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Divide by 10” (G)

Find each quotient.

5.4559 + 10% = 2.49 - 10% =
6.8 +10%= 8.3388 = 10% =
6.433 = 10% = 7.93 +10% =
9,937 + 10% = 2102 =
8.3043 =+ 10% = 9.48 ~10% =
09 +10%= 4.8 ~10% =

1.6 - 10% = 7.3 +10%=
449 - 10% = 6.9 - 10% =
4.619 ~ 10% = 8.4919 = 10% =
2.814 + 10% = 9.29 - 10% =
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Divide by 10% (G) Answers

Find each quotient.

5.4559 + 10% = 0.054559 2.49 + 10% = 0.0249

6.8 +~ 10° =0.068 8.3388 + 10% = 0.083388
6.433 + 10% = 0.06433 7.93 + 10*=0.0793
9.937 + 10% = 0.09937 2 +10%=0.02

8.3043 =+ 10% = 0.083043 9.48 + 10% = 0.0948

0.9 + 10% =0.009 4.8 +10%=0.048

1.6 + 10*=0.016 7.3 +10*=0.073

4.49 + 10% = 0.0449 6.9 +~ 10% =0.069

4.619 + 10* = 0.04619 8.4919 + 10% = 0.084919
2.814 + 10* = 0.02814 9.29 + 10% = 0.0929
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Divide by 10* (H)

Find each quotient.

8.2 +10% = 6.216 + 10% =
3.8724 + 10% = 2.374 + 10% =
0.4149 + 102 = 1.312 + 10% =
6.528 +~ 102 = 0.6 + 102 =
6.886 ~ 102 = 6.484 + 10% =
1.35+10%= 5.831 + 10% =
6.979 =+ 10 = 6.7 + 10% =
3.95 +10% = 8.23 + 102 =
8.67 + 10% = 7.901 + 10% =
2.5 +10% = 9.6668 + 107 =
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Divide by 10% (H) Answers

Find each quotient.

8.2 +~10%=0.082 6.216 + 10* = 0.06216
3.8724 + 10% = 0.038724 2.374 + 10*=0.02374
0.4149 + 10* = 0.004149 1.312 + 10°=0.01312

6.528 =~ 10%* = 0.06528

6.886 = 10% = 0.06886

1.35 + 10°=0.0135

6.979 ~ 102 = 0.06979

3.95 + 10% = 0.0395

8.67 +~ 10% =0.0867

2.5 +10%=0.025

0.6 +~ 10%>=0.006

6.484 + 10 = 0.06484

5.831 + 10* = 0.05831

6.7 + 10> = 0.067

8.23 + 10° = 0.0823

7.901 = 10% = 0.07901

9.6668 + 10* = 0.096668
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Divide by 10 (I)

43 +10%=

0.3761 + 10% =

8.8 + 10% =

8.5 +10%=

5.8+ 10%=

0.5669 + 10° =

6.07 =~ 10% =

4708 + 10* =

7.9 = 10%=

0.8+ 10%=

Find each quotient.

98~ 10% =

1.862 + 10% =

431+ 10%*=

9.7 + 10 =

1.21 = 10% =

9.27 = 10% =

2.56 ~ 10 =

8.8+~ 10° =

7.6773 + 10% =

9.6 = 10%=
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Divide by 10% (I) Answers

Find each quotient.

4.3 +10%=0.043 9.8 =~ 10% = 0.098

0.3761 + 10%>=0.003761 1.862 + 10%> = 0.01862
8.8 +~ 10*=0.088 431 +10%=0.0431

8.5 + 10%>=0.085 9.7 = 10% = 0.097

5.8 +10%=0.058 1.21 +10*=0.0121
0.5669 + 10% = 0.005669 9.27 + 10% = 0.0927

6.07 = 10%* = 0.0607 2.56 +~ 10* = 0.0256
4.708 + 10° = 0.04708 8.8 - 10> =0.088

7.9 +10%=0.079 7.6773 + 10> =0.076773
0.8 +~ 10% =0.008 9.6 =~ 10%* = 0.096

Math-Drills.Com




Divide by 10 (J)

Find each quotient.

2.7711 = 10% = 2905+ 10% =
0.9011 = 10% = 3.7604 = 10% =
5.87 = 10% = 6.4 ~ 102 =
6.47 - 10% = 5231 =~ 10% =
6.42 +~ 10% = 8.462 ~ 102 =
7.9902 =~ 10% = 1.006 = 102 =
2.801 = 10% = 4.1 ~10% =

47 = 10% = 2.863 =~ 102 =
0.143 = 10% = 94 +~10% =
2.11 = 10% = 3.998 =~ 10% =

Math-Drills.Com




Divide by 102 (J) Answers

2.7711 + 10* = 0.027711

0.9011 + 10% =0.009011

5.87 - 102 = 0.0587

6.47 + 10% = 0.0647

6.42 + 10% = 0.0642

7.9902 + 10* = 0.079902

2.801 + 10*=0.02801

4.7 +10% = 0.047

0.143 = 10* = 0.00143

2.11 +10*=0.0211

Find each quotient.

2.95 +10%=0.0295

3.7604 + 10% = 0.037604

6.4 + 10% = 0.064

5.231 + 10% = 0.05231

8.462 + 10%* = 0.08462

1.006 + 10* = 0.01006

4.1+ 10%=0.041

2.863 + 10° = 0.02863

9.4 +10% = 0.094

3.998 = 10* = 0.03998
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